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18 B SEEFH RFETE| LLEIERE i =
1 ASZURA 140,000 140,000 0
1-1 E£8 30,000 30,000 0| @3,000 % 10 A
12 24£58 10,000 10,000 0| @2,000x 5 A
1-3; EARE 100,000 100,000 0| @100,000 x 1%t
-4 EPRE 0 0 0| @3,000 x 0 A
2 2BINA 1,145,000/ 1,025,000 120,000
2-1F&8 600,000 480,000 120,000| @6,000 X 100 A
2-2 4B 45,000 45,000 0| @3,000x 15 A
2-3 EANEE 500,000 500,000 0| @100,000 x 5%t
-4 B8 0 0 0| @30,000 x O A
3 SMEIXA 50,000 50,000 0
3-1 SMEIRA 50,000 50,000 0|FFZR £ %@2,000 X 25 A
4 HIRA 1,000 1,000 0
4-1 FURA 1,000 1,000 0|FELFIFZ%
5 f&itk$ 3,070,000| 2,471,000 599,000
5-1 EARBEZESEILA| 870,000 815,000 55,000
5-2 BIfF ERRBEIRA 2,200,000 1,656,000 544,000
HEt 4,406,000| 3,687,000 719,000
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3 1,526,000 1,426,000 100,000
-1 BEFESE 76,000 76,000 0|4[g]
1-2 AR RSB E 350,000 350,000 0| BR{ER B R
1-3 Efif=E 80,000 200,000 A 120,000}t EfmE-HPEEZER
-4 R E 50,000 100,000 A 50,000|FE B4R ET
R—LR— B 0 700,000| A 700,000[#2 T IZkBEIE
1-5 $LERIT 900,000 0 900,000 |$¥7E% (2857")
1-6 $ELEEE 70,000 0 70,000| &%
2 ERE 120,000 200,000, A 80,000
-1 - EmE 20,000 50,000 A 30,000|ZEFEHMA%E
2-2 ENRIE 70,000 100,000| A 30,000|#8=&E#. ARERN
2-3 BIEE 30,000 50,000] A 20,000|E4E 4S5
3 fgitss 1,010,000 955,000 55,000
-1 AR ERHE 1,010,000 955,000 55000| ARERUVASERREHIT Y
32 REERZHUE 0 0 0
4 FEE 1,750,000/ 1,106,000 644,000[ IR A5-218 - #REE1/2
HEt 4,406,000| 3,687,000 719,000







